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SECTION—A1

n. Each question carriecs 2 marks. There are no

Answer all guestions in this Sectio
ative marks for wrong answers.

neg
Direction : Answer Question Nos, 1 and 2 on the the basis of the following :
You have a data set with three variables ! Uy, X and z You run three r::pgrt:ssions and
discover the following :
1% You run an OLS (ordinary least squares) regres asion of wvariable y on a column
of 1’s. In this first regression, the coefficient on the column of 1's is 1/2.
[I. You run an OLS regression of variable y on a column oi' 1’s and variable x. In this
second regression, the coefficient on X is 2 and the R?% value is 06,
II. You run an OLS regression of variable y on a column of 1’s, variable x and
variable z. In this third regression, the coefficient on x is 1.
1.  Which of the following statements is certainly true?
(a) The mean of yin your data set is 2
(b) The mean of y in your data set is 1/2
(c) The mean of y cannot be determined from the information given
(d) None of the above
2.  Which of the following statements is certainly true?

The R? value of the third regression is equal to 0-6

(a)
The R? value of the third regression is strictly greater than 06

(b)
()
(d) None of the above

3. A, Band C are three clubs with 200, 250 and 300 members respectively and nobody
can be a member of more than one club. The arithmetic means of the ages of club
members are 25, 10 and 15 for A, Band C respectively. What is the arithmetic mean of
ages of all persons who are members of at least one of the three clubs?

The R2 value of the third regression is strictly less than 06

(a 14
(b) 15
(c) 16

(d) None of the above

Three separate draws of a single card with replacement are made from a complete deck

4.

of 52 cards. What is the probability that cards of the same colour will not appear in any
two consecutive draws?
(@) 1/4
(b) 1/8
& 2/13
@) 1/13

/34-A ' 7 [ P.T.O.
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_ nX +4. Which
. tY = 2
3 $ tion. Le
4 distribyd
5 Suppose random variable X has a standard nOlm"‘ d
ts is true?

of the following statemen
@) EX)=%; variance (Y)=4

(b) EX)=6; variance (Y)=8
) EX)=6; variance (Y) =16

(0, 1]. If random

(d) None of the above ]
ot it the interva
6. Suppose random variable X has a uniform dlstnbuUOn‘:’n 1Y at y =27
variable Y = 3X + 1, then what is the probability density
(a) 1/7
(b) 1/5
(c) 1/3
(d) None of the above
mbers. Which of the

Let {x,} and {y} be any two divergent sequences of real nu

following is true?

(a) Every subsequence of {x,} is divergent

(b) {x,t+Yp}isa divergent sequence

(c) For any real number k, {kx,} is a divergent sequence
(d) None of the above
variables x and Y:X+2Y=¢;

8. Consider the following system of equations in
es this system of equations have

4x+8y=cy; ¢, Cp are positive constants. When do

a solution?

@ a=¢
(b) ¢= 4c2
() 4¢=cy

(d) The system of equations does not have a solution

The R2 for an estimated regression equation is calculated and found to be equal to
1-21. How do we know that there must be an error in the calculation?

(@) R? is never greater than 1

(b) R? is always an even number
(c) 121 has two square roots

(d) R? is always an integer

10. What is the derivative of Ig 2xdx with respect to y?

(@) O
(b) y?
() 2y

(d) None of the above

/34-A 8
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For any real number x, it is true that [x]=n if and only if n is an integer such

11.
that n < x <n+1 What is [—gg] equal to?
(@) -3
(b) -4
€ -5
(d) None of the above
12. A fixed effects estimator is used in econometric analyses involving which of the following
kinds of data?
(a) Panel data
(b) Cross-section data
(c) Time series data )
(d) None of the above b
13. Suppose p— Sy

flx) = x+2, for all real numbers x éQ

1S not

[PT.O.
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SECTION—AZ k. There are no negative

1 mar
s in this Section. Each question carrie®

Answer all question
ction function

marks for wrong answers. ,
‘ ouglas produ
16. Which of the following is a property of the Cobb-DOoUE
0 AL 8K 039
(a) Decreasing returns to scale
(b) Constant returns to scale
(c) Increasing returns to scale

(d) All of the above
he value of the

y ’ 4 Jculating t
Data on which of the following variables is most useful in calc

S fiscal deficit in an economy?
(a) Merchandise exports
(b) Ml
(c) Household savings
(d) Tax revenues

18. The demonetization exercise carried out in India in 2016 had an immediate effect on the

value of which of the following variables in the economy?
(a) Fiscal deficit

(b) Currency-deposit ratio

(c) Repo rate

(d) Balance of trade

19. What is the full form of GST?

(@) General Sales Tax
(b) Goods Sales Tax
(c) Goods and Services Tax

(d) General Services Tax

20. GST is an example of which of the following?

(a) Direct tax

(b) Indirect tax

(c) Import tariff
(d) Export subsidy

/34-A 10
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21,

22.

23.

24,

25.

/34-A

Which of the following crops has the largest gross area under cultivation in India?

(a) Cotton

(b) Pulse
[C) Rice
(d) Wheat

Public sector employment in India is Jargest in which of the following sectors?
(a) Community, social and personal services

(b) Mining and quarrying

(c) Manufacturing

(d) Transport, storage and communications

What is the full form of TRIPS?

(a) Trade Relations and the International Property System
(b) Trade-Related Aspects of Intellectual Property Rights
(c) Tariff Restrictions and the International Patent System

(d) Trade Relations and the International Policy System

The amendments to the RBI Act, 1934, which came into effect on June 27, 2016,
specify that the primary objective of the monetary policy operations of the Reserve Bank

of India is to

(a) defend the external value of the rupee as specified by the Government of India
(b) ensure an adequate rate of growth of employment in the economy

(c) maintain price stability while keeping in mind the objective of growth

(d) regulate the rate of growth of the money supply

Which among the following is currently the largest sector in the Indian economy in
terms of its contribution to GDP?

(a) Agriculture
(b) Manufacturing
(c) Industry

(d) Services

11 [ P.T.O.
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SECTION—B
om Aamong Question Nog, 5 6

g fr o
In this Section, you have to (i) answer any four question 31 to 36 and (iii) answe,

Nos.
to 30, (ii) answer any five questions from among Q“e‘t“:‘an 4 Question No. 37 carries 15
Question No. 37. Question Nos. 26-36 carry 5 marks eac

- to 30
i o0s. 26 to 9U-
Direction : Answer any four questions from among Question N
d performance of 6 students,

ber of hours per day studied

26. You have a data set regarding the behaviour an
set is shown below :

Specifically, for each student, you know the numbec
(variable x) and the test score obtained (variable y). This data

Test score (y) Hours studied (x)
30 6
50 - 3 6
- 10 | 6
T -
You assume that 'ch‘t:'f‘;lrlj-ot im méﬁg‘;aptures the relationship between

€ lrsisT st

IR
<+ D.

y and x o

| .‘E' 3
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27.

Suppose you choose at random a real numbe
density function of the form

f(x)-al- if xe[0, 4]
floo) =0 if x¢[0, 4]

Find the probability that (X -2) (X - 3) > 0.

r X from the inte

rval [09 4] with a
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m variable X can take two values : x ¢ {1, 1}. Random variable Y can take

a3 ﬁgovalues : ye {0, 1, 2}. The values of the joint probability distribution of
X and Y are given in the table below :
‘ X%
-1 1
0 0 1/2
Y 1 1/4 0
2 1/8 1/8

(a) What is the probability that random variable X takes the value 17
(b) Compute E(Y|X=-1), the conditional mean of random variable Y
given X = -1
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29. Find the value of the following ratio :

R
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30. Suppose f(x)= (x5 =1)/(1-x), for all real numbers x < 1
=2x +a, for all real numbers x = 1

where a is a real constant. What is the value of a for which f(x) is continuous at 1?

4..‘.“. -
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to 36.
among Question Nos. 31

hich Player 1 ©
imultaneoy

Direction : Answer any five questions from an play any one of

sly play any one of

31. Consider the following two-player game in W
¢ is as follows :

three strategies, 7, M and B, and Player 2 can 8

three strategies, L, M and R. The payoff ‘matrix for the gam
11
2| L M | R
T 3,2 | 40 1, 1
M 2,0 | 33 | 0,0 |
B 1, 1 0, 2 2,3

Find all Nash equilibria in pure strategies of the above game.
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32. Consider a closed economy with an unlimited supply of labour. There is no

government expenditure or taxation. A single good is produced which can be used
for consumption or can be used as a capital pood for the production of the good

itself. Suppose [ units of labour and v units of capital are required for production
of each unit of the good in any period (I and v are positive constants). Let K(t)
denote the capital stock in the economy at the beginning of any period t. Suppose
in any period f, equilibrium output y(t) in the economy 18 determined by the
equality of net saving S(t) and net investment [(t). Suppose

SE) o Y@ TEr)) oo oa Y0

Kty K@) K(t+1) Kit)

What is the value of the rate of growth of capital stock which, once attained, is
ceteris paribus going to be repeated in the economy period after period?

5
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te per cent r

interest T8~
diture I with the real r. The central bank
500" rate of interest

The relationship of investment expen o
given by St
the n the economy

in a demand-constrained economy is

at 5%. Assuming that autonomous consu gy
is equal to 100, government expenditure () is equ ultiplier 18 2,
a proportional rate of 10% and the post-tax Keynesian powrsy
equilibrium level of income (Y) and the real rate of

33.

&
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The first two equations of the following system describe the determination of
the output gap y and the inflation rate 7 in an economy, given the real rate
of interest 7, & targeted rate of inflation n, and a  supply shock e The third
equation describes a process whereby the central bank effectively sets the real
interest rate through a Taylor rule to target an inflation rate n, and an output

gap equal to zero :
y=a-br, a>0, b>0

n=mn,+cy+e, ¢>0

r=%+d(n—no)+fy, d>0, />0

Assuming a positive supply shock e, calculate the values of the real rate of
interest and the output gap in the economy.
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U(x, Y)=x*+2y
= gecond goods

is given

35. In a two-good world, a consumer’s utility e of the first
where x and y are the amounts o ® rupees v
respectively. The price of each of the two goods 8 °  difference curves and
consumer’s income is 30 rupees. Draw

find out his utility-maximizing consump

the consumer’s P4 .
tion bundle(s):
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36. Suppose in an economy, the function relating the income tax liability T of any
household to its level of income Y is as follows :

T = 0 , Y < 500
T =  0.25(Y-500) , 500sY 1000
T = 125+0.5(Y -1000) , Y z1000
y = 12507

(@) What are the marginal tax rates at Y = 375 and
(b) What are the average tax rates at Y = 800, Y =10

00 and Y = 12007 5
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o 500 words :
101€ 5 3

tions N ot M9 icially Testrictiy, L
Answer any one of the following ques & result Oolf‘;C e that js removed, th.
tio-

s
(a) “Harrodian knife-edge 1nstabilityu t‘p i
assumption of a rigid capu:rl-:, commont- el yment'-
knife-edge instability disappeai=: s
e s N yollid :ct? g
ar "\d Trade Organization serveg
0

i ant by ‘in
Explain what Keynes me e labou ¥

37.
Does it arise as

(b)
a result of wage rigidity 38 the
(c) “The multilateral trading system unce’ Commentu inin
the interests of developing countries-— =~ al framcwork eme B trade
the anal}'t‘:hc assumption of imperfect]y,
on

Give the salient features of
between countries that is based

competitive markets.

(d)
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